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 E(R) = Rf + (Rm-Rf) x β 
 

,��#%��2%���	
��� �������	.
��� 
 E(R) 
����%��#
�!�.�%$(�
	$���%"����� ���
��12��" 
-4$�12
�"����
�����	$��
	$%"���1� 
 Rf 
����%��#
�
	$���E1��
�����	$�� ��%612�6�1��

����%�������	.����5��%���F��� (
6�
����) ��"-�� 3% �*��") 
 Rm 
����%��#
�
	$�H�	$�!��%��� (
6�
����) ��"-��  

  10% �*��"
���) 
 ���� β �*
��
��
�����	$��!�� �"�%����.�) ��$���� 
(�65	��� �
���	. ����,��#��� e-Finance �����#�"���H���
	$
132) 
��%���������� ���%��#
�
	$%"����� ���� 
  �"� AAA �	 β �
����� 2 #������  �����%"�������
�� 
���$�� "
�"�
�����
�����	$���2��� 2 
	$ �1� 
��12%"�����
��%��#
���� 
 E(R) = 3 + (10-3) x 2 =17% 
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�0�"� <�"/* (Henry Ford) 

 

"Anyone who stops learning is old, 
whether at twenty or eighty. Anyone 
who keeps learning stays young." 
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